
ETKA

Model

JEM

Year

1999

01.05.2007MG

1

SG

09

Illustration

109-85

Restrictions

9M-X-000 001 >>

UPD

626

 8:07

EPIS 204et_bild.frm



ETKA

Model

JEM

Year

1999

01.05.2007MG

1

SG

09

Illustration

109-85

Restrictions

9M-X-000 001 >>

UPD

626

 8:07

EPIS 204

Pos Part Number Name Qty Model

page: 001

Remarks

timing chain
guide rail

2.8ltr. AFP

   1   021 109 465 B timing chain           IWIS 1

   2   021 109 467 tensioner - chain           IWIS 1

   3   N   905 350 01 bolt, with hex. socket
hd.

M6X24 2

   4   021 109 469 guide rail 1

   5   021 109 471 pin 1

   6   021 109 569 sprocket Z=32 1

  (7)   066 109 570 sprocket Z=18 1

   8   N   102 038 03 screw, hex. hd. M12X1,5X40 1

  (9)   021 109 503 D timing chain 1

  10   021 109 511 pin 1

 (11)   021 109 507 B tensioner - chain 1

  12   N   013 827 1 sealing washer A22X27 1

  13   021 109 509 E tensioner - chain 1

  14   071 109 515 pin 10X29X40 1

  15   071 109 513 guide rail 1

  16 + N   011 525 20 washer A8,4X16X1,6 1

  17   N   010 272 4 screw, hex. hd. M8X26 1

  18 + N   011 525 20 washer A8,4X16X1,6 1

  19 + N   010 350 6 screw, hex. hd. M8X50 1

et_text.frm


